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11-14-17

Aim: SWBAT begin to simplify using the distributive property.

HW: Quiz Friday (parts of an expression and distributive property)

Do Now: Front of WS
Math & Munch        Even days    @ lunch            C-201  
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Do Now: If there are like terms, circle them.  If there are 
not, circle "none".
1.  15x + 5 + 3x - 6y none 2.  3a + 7ab + 4a - 8b none

3.  6r - 8 + 12s + 5 none   4.   12mn + 11 + 22nm none 

5.  4xy + 6x + 8y none
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List the terms, like terms, coefficients, and constants in 
each expression.

3x + 4x + 2 5y + 9z - 7 - 3y 

Terms:  3x, 4x, 2 Terms: 5y, 9z, -7, -3y
Like Terms: 3x and 4x Like Terms: 5y and -3y
Coefficient(s): 3 and 4 Coefficient(s):  5, 9, -3
Constant(s): 2 Constant(s):  -7

-9y + 7y + 5z 2 - x - 4y + x - y - 11 

Terms: -9y, 7y, 5z Terms: 2, -x, -4y, x, -y, -11 
Like Terms: -9y and 7y Like Terms: -x and x; -4y and -y;

  2 and -11
Coefficient(s): -9, 7, 5 Coefficient(s): -1, -4, 1, -1
Constant(s): none Constant(s): 2 and -11
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The Distributive Property

a(b + c) = ab + ac a(b - c) = ab - ac

15(26) = 15(20 + 6) 15(26) = 15(30 - 4)
    = 15(20) + 15(6)     = 15(30) - 15(4)
    = 300 + 90     = 450 - 60
    = 390     = 390
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Simplify
1. Eliminate parentheses by distributing
2. Combine like terms

Make sure your final answer meets the 
following requirements

• No double signs
• Alphabetical Order
• Constant goes last
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Use the distributive property to simplify.
1. Remove parentheses.
2. Combine like terms.

3(x + 10) = 

12(-y + z) = 

5(x - y + 3) = 

10(x - 5) =  

x(-a - b) =  



11­14­17 Distributive Property.notebook

8

November 14, 2017

Use the distributive property to simplify.
1. Remove parentheses.
2. Combine like terms.

3(2x + 10) =  

12(-2y + 2z) =  

5(2x - 2y + 3) = 

10(2x - 5) =  

x(-a - 2b) =  
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